1. The Math Clufgggllstipt dogs andgygmlburgers at the

football games.
A%%S *50 hot dogs and 75 hamburgers will sell for $250.
2% 2.*100 hot dogs and 75 hamburgers will sell for $312.50
Lb;*ofjrow much does each hamburger sell for?

2 (50X + 75y= 250)
00X + 75y =3l2.50

_\slo\x: )50y = 550
DOt 250 = 3l2.50

2. Evaluate f(-5) when f(x) = x2 + 3x — 10

8= €5 +265)-10
5 =10 =10
f;e-ss o (-5,0)

3. Thelle ef a rectangle i its wndth If the w1dth is
decreased b e#ctangle hasa erlmete 0
What ist u the new rectangle"
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Multiplying
Binomials




Box Method: #6

(x-1)(x+ 8)

X = |
ICH R




Foil Method: F - First terms
O - Outer terms
I - Inner terms
L - Last terms




Solve using FOIL method:

(- 10)- 1)

X = — YX = 1OK +40
& -HXHQ\
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Solve using the FOIL method: "

X+ D(x-5)

HX=ZIOX X ~5
| 25— %=-5)




Box Method:
#11

(2a + 5b)(a - 4b)
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Distribyti thod #3
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You try Distributive:
(m + 3)(m* + 3m + 5)
B o b I o= 6.4 W =)
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Choose your method: #8
(2x + 2)(4x* - 3x - 6)
B3 Ty 2 RE X ~12.

B+ 2 1R K12




Exit Ticket
Simplify: 4/8/19

1. (2x + 1)(4x° - 5x + 3)

2. -3x(4x* - 10x + 2) + (-3x - 4)



